
F2009 Final Exam Solutions 
 
 
1-1) B 
1-2) A 
1-3) 3 
1-4) 8m 
1-5) 24m/s 
1-6) +x 

2 (b) NFN 710  

2 (c)  NFpull 3.331  

2 (d)  mttx 2429.)(   

3 (a)  s
m

Bv 14   

3 (b) mx 6.66   

4 (a) m
Nk 5.39   

4 (b) A=2.228m 

4 (c) )cos(228.2)( 2
  ttx , 

)sin(228.2)( 2
  ttv  

5 myx cm )1875.,0(),(   
6(a)  s

rad
c 0523.0  

6(b)  2375.109 kgmI s   
6(c)  s

mv 93.23  
7(a)  I=3.63kgm2 

7(b)  a=0.794 m/s2 

7(c)  296.3
s

rad  
7(d)  KEmass=2.52t2 ,   KErot=28.6t2 

8(a)  s
mji 13.32ˆ3.38   

8(b)  mji 7.52ˆ6.125   

8(c)  s
mji 2.6ˆ3.38   

8(d)  2.515m 
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1-1) kjiF ˆ10ˆ4ˆ6 


A 

1-2) kjir ˆ5.22ˆ9ˆ5.13 


 

1-3) A=2m 

1-4)  m8  

1-5) T=4s 

1-6) v=+2m/s 

2 (b) NF 7.47min   

2 (c)  a=3.03m/s2 
2 (d)  Wnet=1760.95J 
3 (a)  NFg 14199  

3 (b) s
m

sv 6899   

3 (c) JU g

111019.1    

3 (d) JE 1110594.0   

4 (a) s
m

Bv 6.10   

5 (b) s
m

Cv 32.7
 

5(c) HD=2.74m 
5(d)  No, it only makes it 18.26m of L 

6(a)  s
mv 17.25'

2   
6(b)  45.11'

2   
6(c)  E=+301J  

7(a)  s
rad

c 0349.0  

7(b)  
2300kgmI s   

7(c)  s
mv 27.7  

7(d)  yes  rad16.2  

8(a)  T=0.8s , ω=2.5πrad/s 
8(b)  k=308.4 N/m 
8(c)  E=62.5J 
8(d) A=0.636m 

 


